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15)

16)

17)

18)

a) What is regenerative braking?

b) A 50 hp, 440V, DC shunt motor is braked by plugging. Calculate the
value of resistance to be placed in series with the armature circuit to
limit the initial braking current to twice the full load current. Assume
armature resistance as 0.1 , full load current as 100 A.

Explain plugging applied to 3-phase induction motor with neat sketches.

List the characteristics required for drives used at different stages of
cement making process and suggest suitable motors.

a) Explain the working of the drive for textile mills.
b) List the characteristics required for drive used in drilling machines.
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